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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-15 0
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10:00 250 130.0 B 1Ri%e10:00 B3h (REEESR)
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12:35 250 130.0 BE| Ri%e12:35 Bz (RFE{EREE)
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23t]1750.0 (70%) 910.0 3ZHKEC: 2080.0, PH: 5.8

TERRHEBR 2 STEEART (162.0 :

ZRIASEPRIERE118.0 ml.

118.0), FAlEEHT—@ % XA H4S
EORGEBERTC (250) 5THA (277. 0) R, AIBERH T % 1R[E#EIRS 2 XEM
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BriE) | EBIATK (7)) | EME (EH/HK) | XR ERF
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